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Ql. (A)Choose the correct alternative and rewrite the statement again. (5) 
1. _a ;.e :-esistar.ce of a wi:-e is 100'!"1.if :t ca:-ries a current of 1 A for 10 seconds, the heat produced \;ill 

.:ie ___ _ 

a}lOOOJ h)iOJ c)O.lJ 
2. C-olc pla~ed ornaments is the example of _____ _ 

d) 10000 J 

a) e,eraoplatir.g b) alloying c) anodizing d) galvanizing 
3. T:r: halogen wmcr, 1.s a liquid a.: room temperature is _____ _ 

a) fiuonne o) ast.atir.e c) bromine d) iodine 
4. ____ is one of tile comoustible components of LPG. 

a) E~.ane o) pro;iane c) methane 
5. Ir.:r: is ___________________ _ 

a) me.rt: :-e.; ctive tl-,ar. zinc . 
.:. ) rr.cre reac:ir.re t.~an aL:minium . 
i::) less reactive d-..ar. coppe,. 
1) ess ,eacrive :.-i.ar. ahiminium. 

Q.1 (BJ Name the folloY.ing 
1. T;-e Sf -nit 1Jf1P.esis+.znce _______ _ 
2. T,e rr.'Jst r~ctivE: :n0n:..et.a]. ____ _ 

Q.1 (C] Match the columns 
Reactants products 
Fe-S ZnS04+ Cu 

2Cu0 
2Cu-Oz FeS 

d) ethene 

TyPe of chemical reaction 
Displacement 
Oxidation 
Combination 

. (2) 

Q.2 (AJ C.ive scientific reason (Any 2) · (4) 
1. C':· e-.:_yt.:.,e !J;;'-:: comr~r-:!s; avdrigh me ~g pomts 
2. TI:e -:n Jr of ',:;JLe CJ.Sa;:,pears 1:i the reaction between vegetab!e oil and iodine 
3.1~ e e ectnrA eq~ fX'="'•t ;:i-oauctng heat e,g,·mn, electni: heater, boiler, toaster etc. as Nkhrome 

J:E:1, 'r,t d IP-'',:: X <:6..;;L 

{B) Answer the following questions (Any 3) (6) 
1. &-:1;;-e- ~le ,~:rfx, 'Jfu~ f:'<J and Alken es'. 

~- :- c,f e "':" r: ts fr ,a: t:,e ;;e ,, •:r given pairs dCJ you r-,ink will have similar properties and 

fr e-ir..:: 

U: !Irie aci-:1 
n, aw oL 

E'. ,r.,t' ty I J Struttural somertsm 



r. Wrllt lrUllur I lor111tr l r l1J 1 th J11ll11wlr1J: 1111'/\f 11,1111 1• 

1)2 c hlotr lmt 111 IIJ pr11pJ11 2 111 
QJ J\11 !iw11 rhc loll11wl111t c1111•sllo11s 111 h1 il'f (J\ny 'i) 

1 01 th di 11•rt1111 i11ld 111•,w,·1 tlll' frillowrn,: 'I"" ,ti1111 

J? 
f Nonmur,ncllr 

/'< 1111 Ill f lflll ,., I!' 

ltllfl I llif'Jlf 

roller 

M 
~ C'r,nvtyfJI l,l'lt 

n1 
M<iunrlk lngrctllcnl 

( oiler lo,, -
(:ollc<·lor 

1J How 1!11 ~ 1111 tliod lwlps to ',<'pnrntc the main ore and impurities? 
II) Wr11c or11· 1.:x,rnrplc for wl11d1 above method of separation is used. 

2 Exp I 11t1 dcm,·1 it i; of 'M11ncl1•Jp1•v's periodic table'. 

3 Oh crvc, ti,, 1:rvcn, lwmrral reaction and answer the questions based on it, 
ZHzl, ➔ sol----·--- 3S +2Hz0 

l)Wr 11, thr• 11.mw•. of n•;1C"tant•; nncl products in the above chemical reaction? 
11)ldl'11llly th1· typr• of I hc•rnlcal rcacllon? 
Ill) lkl111r tlw .,h,,vr• typ<· ot chcrnkal rcactlon. 

4 M 1l.11crn,1t" ,illy dr•r 1v1• the• formula for 'Escape Velocity.' 

An wcr I lw following q111•st ions based on the cxprimen~ given below, 

fl11 11 fJIIIJ 

11,il 

V W,te, i 
"'" t'11 ,,J 

' r 

I ) (IJ) 

IJ 11cm 111ll l11u11 wl111 Ii tube will rnst Jirst't 
) lrc,1111 ,d lu,111 wh11 Ii t11IH• will 111,;t 1:i.,t'? 
J ( 1,I 1ln tl11 1IJ11vc.: ,,1, ,c, v,1111111·,. 

rt 1H1L1• 011 'll11111ol11f:1H1<; :-.i•1 i1·s1 

fur '"' 011 

1611' r11r 
11 I 

Anfl')tJr1u11uf Ill 

/,!,,, ii~ 

(C) 

(15) 

7 1 I l'l,1m t A I hill th• 1,1<lh1·, ol pl,111ct ll. II the 111,1ss of A is MA, Wh,1t 11111st lw tht• 111 i-s 

ti I vi1Ju1 1,I 1111•, Ii 11f 1h,1t 111 ih v,d11c 1111 A! 
( 11J 1 11,1 ,Id 11111•x11 11..111111 o( ,1111111111111111, 

I) Ir j 1 

II) 1 I I 11 l1 ill 101111111111111f I, IIIXlh 111111 ,!111111111111111 by ll.iy1•1\ 

JIIIJl 1 



Q.4 Answer the following ,1m•stlon (Any l) 
1. Draw a neat, l,1hclll•tl dl.,gr.1111· of' AC g,•nt•r.1tor' .11111 t•x,,t.1111 world11g of It. 
2.Answcr the following l(lll'stions luscd on the ,llai,:ram 1,tlwn lwlow, 

l'olJtitmn 
Sotlium 
I.J1hiun1 
C,dcinm 

RC',tt.:t with \\'illcr l 
Hr.,rt " t I nrlcl,Ft 

Magn<!simu U 
Alu111lni11m 
2lnc 
Iron 
Tin 
l..e,1d 

Copper 
Mer<ttl)' 

Silvu 

Gold 

i) Define 'Reactivity Series' 
ii) Name any two metals which react with water. 
iii) Name any two moderately reactive metals. 

Lower 

iv) Name the most highly reactive metal and Lhe most less reactive metal. 
v)Write reaction of anyone highly reactive metal with waler. 

-All the best-

(5) 
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Q.1. (A) Choose the correct alternative and rewrite again the following statements:- (5) 

( J) Which phase< ;in be called a phase of reverse of prophase? 

(AJ Pr oph;J'>C (B) Mctaphase (CJ Anaphase (DJ 'f elophase 

(2) Wh1< h <,f the tr,ll<iwing bclongc; t<J Hare c;peciec;? 

(A) ·11g1Jr (HJ Lir,n (CJ l<cd Panda (IJ) Lion tailed m<mYcy 

'] J (akan•<iu•, •,r,inc<; are pn:s<:nt on thc body of ------animal, 

(/\) hsh (HJ .Snail (('.) Sp,ingr; 

( 4) Th', ;ir,ac,ty ( MW) r,f nat,md ga•, ba<, ~d p()wr:r plunt /\njanvcl m Mah,irashtra h ---------. 

(AJ L,6L(J (H) l,tl-F,(1 ((,J 2,220 (IJ J 1,SrJfJ 

(';) Wh1c;h ,,f the: f<JlJCJwing pr<>l(:Jn is prc<;ent Jtl l'a11crer1c,? 

(/\) llavmrJglobiri (LlJ Jw,ulin (<:) K,•rdtin (IJ) O~<;c:in 

Q.1 (B) Answer the folJowing :­

Cl) ~t,it,- tnw or faJ•,<.. :-

Lin, err,u, 1d, 1•rati<Hl', occur due tr, h1Eh111 radiatir,n-. of X - H,1ys. 

(2) Whi, h rnc,lcculc<; ;11 e nec.:c•,'>c11 y for the fo1 nntwr, of pla<,ma 111e111b1 ,ine '! 

(': J W, 1tr: the rne;i11in1~ ()f followrng ,,ymbol. 

'4} I ind tJ,,, odd man out ,111d cive th" rc:i 1, •. 

,qi r I n1 r·,1;. luc ltar t1w1 /~'.!, 'J id· I ene1 ~1/, Wind cne i~Y 

I , J Vr •tc th Cc1 1 ,;1t1<,11 li1•twec•f1 

1 1d,1. f. 11 thwc,1 rn : l'lat 1h, '1rti11thc 

(5) 

Q:t:(A)C.,lvc c1 ntific.:rea on~: (/\ny'>J (4, 
( ) 'Jh" gli tr1 tcil, I, 1,, <in I 111d ,1. :;1;11"'. ir water, 1t, rnnot hl 111rl 1dcd ,n cla'><; , mp , 

(/) !hr u,,. tr11it1on,1flu1Lmr ,, d1ft1r•'llfu d1llc1u1ttyp•,ofpuwuplm1, 

I :1 l<r l,,,ycc 1, 1,,,1 /l()WJI J ur,, 111rllJ I 



Q.2 (B) Ans\\ er the folio\\ ing :- ( An) 3 ) 

( 1) l~l\ l' '.'lltll t lllll:-, (ll tl\ .It'\ ,llld llll'l us. 

( ') llknt1t, th1' .u11m,ll sllln\ 11111 tlw 111:111 l' ,111d \\'l'lll' ,1m t,, ll ch.u ,lctl't t,ttl' ul plwlum h 1 
'' hll h tt 

Hl'lll'li,"· 

H~ll l 'ut.._ 

l 1'-has, 1,~ ••n~ 

~ 1._a,1uclc-

'~ ' 
(. )t ,ti ,l\llH 

(4) lfow ,ll'l' prllll'ins t1ht,1itll'd? \Vh,1t ,II\' till' t'llmp11th'nts 11f thl' prnll'ins .1 

(5) \\ nk the dtlt'l'l'l'lll'l' lwt\\'l'l'll :- t-litllsis ,llld r-t.,it1sis 

Q.3 J\n ·wt~r the following:- ( Any 5) 
( I ) OhSl'n l' thl' ligurl' ,llld ,lllS\\'l'l" thl' loll1n\'i11g q1t<'SlillllS.' 

\\ I t1l'h 111l'l lwd ol rq in idurl inn t, -.:ho,\ 11 it , hl' d1.1~:1-.1 n1.' 

m bP\tt.tl n•pt ndttc lttlll ind ~1".tl 11 rept ndtt. t1n11 ! \\It,.' 

1 l II c·\ 111plt-s of pl.ints 1111dl'l I nin•~ this llll'll111d llt I L'(ll l>dU( tion. 

ft I .F,1 111111npo1 t.11111 of ns.:;tl-., .is pt llllt 11I '\ 11lut1 i 1 

th1 ft ur ,Ill I tll'i\\l'I" the· fllllrm t11g qtll ,t1n11s· 

(15) 



~) L 1h A Jnd Bin the d1ag1 dill 

(h) Delme nuclear fts~1on. 
(c) State the clra\\ bdrk~ of .111111 ll·.11 1111wP1 pl,1111. 

( 4) Wntc a hort note on Buctdmg 111 Ye.1st. Expl.1111 with tht~ help ot cl1,1g1 ,1111. 

l S) (d) \\ It th n mw 111tl t,itcgory of each of the component shown 111 picture. 

(b) \\ h t 1s necessary to convert this picture into food web? Why? 

Obs rve the following diagram .Write the answer of the following questions: 

o I h phylum doe:; the animal included in the diagram belong? 

the cxm,keleton made up'? 

t I the ~yinmetry? 

the d1ffpr11 11t types of thr(•atenecl species? Explain with help of ,111 example'. 

t\ m ? What ar<' their Ly1ws? 

r the following:- (~ I) 

11th qu· 11011 

pl II 

I LI, ti 11tlu 11 I l,111 111111!111111, 11th j'l\ 

I l I I l I 

Ill 

pl 1111 

l I 

( ) 



Our a_tmosphere is getting hotter, more turbulent, and more unpredictable because of the" boiling 
and churning" effect caused by the heat - trapping greenhouse gases within the upper layers of 

atmosphere. With increase of carbon, methane, or other greenhouse gas levels in the atmosphere, 
our local weather and global climate i"s further agitated, heated and" boiled". The green house 
gases such as water vapour, carbon dioxide, methane, nitrous oxide, and ozone are causing great 
impact on life on earth. Due to global warming, the glaciers are melting, causing sea level rise, 

coastal submergence and frequent natural disasters. We have to rethink while taking the 

deveiopment projects and help to protect the existing life forms on the earth before its too late 

because climate change can exterminate us. 

Questions: 

(a) \t'!hy is there increased global warming? 

.(b) Which are main greenhouse gases that affect climate? 

(c) What is the chain of impacts caused ctue to glohal warming? 

(d) \Vhy is life threatened on the earth due to global warming? 

(e) What can we do to reverse effects of climate change? 



STD: X 

s·T. JOHN HIGH SCHOOL 
FIRST SEMESTER EXAM 

ALGEBRA 
202J-2,1-

7, 

MARKS: 40 

DURATIOI'\: 2 Hours DATE: 03.11.2023 

Q.1.A. Choose the correct alternative for each of the following sub questions: ( 4) 

i. To 5oln• x - y = 3; 3x - 2y - 4 = 0 by determinant method, find 0. f 

a. 5 b. 1 c. -5 d. -1 

2. What !S the sum of the first five multiples of 3? 
a. 45 b. 55 c. 15 d. 75 

3. A die is rolled. What is the probability that the number appearing on the upper face is less than 3? 
1 1 1 . . 

a . - b. - c. - d. 0 •, 
6 3 2 

4. Which of the following is a quadratic equation? 

a. 6x2 = 20 - x 3 b.~ - 3 = 4x2 c. x 2 (~ - 2) = '!. d. Sx + 7 = 3x 
X X 2 

B. Solve the following sub questions: ( 4) 

1. Find the value of x, if 4x + 3y = 23 and y = 5. 

2. Write the value of a+ ~ for quadratic equation 3x2 
- 6x - 5 = 0 

3. A die is rolled. Write the probability of the event A getting a number multiple of 2. 

4. Determine the nature of roots for the quadratic equation 3x2 - Sx + 7 = 0 

Q.2.A. Complete any two of the following activities: 

1. Complete the following activity to solve the simultaneous equations 

Sx + 3y = 9 --------(1) 

2x - 3y = 12 -------(2) 

Adding equation (1) and (2) 

Sx + 3y = 9 --------(1) 

+ 2x - 3y = 12 -------(2) 

□=21 
Substituting the value of x in equation (1) 

sD+3y=9 

:.3y =□ 

:.y= D 

(4) 



2 Complc tt: the lollow111 . Htl\ 11) to f111 d w h11 Ii 111111 ,,f A I' 2,11 ,1. 0, :l'I t , d,O? 

Give n A P 2,11 ,20,21J 

l t l the nth let m o l lhl A P bt 5l>ll 

tn D {I 0 1 m ul.:l) 

560 2• (n 1)" 9 

. 560 +D 

.n-

D 
D 

3 A d tc 1s rolled ComplctP the following activity to f tnd the probability of getting an odd numhc-r on 
uppe rJace of the die. 

ThesamplcofSpaceS={ D} :.n{s)=6 · 

E\ c ntl\ To get an odd number on upper face 

·. A = {=:I} :.n(A)=3 

D 
P(Al ::. - ·---- formula n s) 

1 
:. p(A) =-

0 
Q.2.B, Solve any 4of the fo llowing sub questions: 

1 Solve the quadratic equation: x 2 +Bx+ 15 = 0 by factorisation method 

2 Fmd the 11th term of A.P. 12,16,20,24, ...... 

3 Determine the nature of the root of the quadratic equation /2x2 + 4x + 2../2 -" O 

4 For the simultaneous equations i.es\ variables x and y. 
'· 

If D x=49 and Dy= -63 and D =-7 the find.the value of x and y. 

5 Three coms are tossed simultaneously. Write the event . 
} Event A: To get at least two heads 

1) v m: tj : To get n<J head 

Q.3.A. Complete any one of the following activities: 

(8) 

(3) 
1 A tw, d1r,1t number 1s lo he formed from th<! digit 2,3,5. Heputition of digit. Complete the following 

v ty frnd the prol,,1h1hty that tlH• 111J111lwr so formed is odd numbers 

arnpl pace 

S { Ll,2 ,,12,0, ,1., ,3} 

.-. n( J D 
Now, Coni.11t11m of eVl nl A I tlitJt 11u111l11·1 111111wd 1, 111 odd n11111hl'1 

.-. A '·{ z 1,zs,D.s q : . II ( /l) 4 



q d ti 14, 5 O th n find th v1lu of k by c mp 

CJ 

□ 
CJ 

d t1 equation 

D 
" D In the above equation 

□ 

Q 3 B. Soh e any two of the following: 

th tollov.·mg Simultaneous equation graphically x + y = 7; x - y = -1 
AP the sum of three consecuti_ve terms is 27 and their product is 504. Find the terms. 

,.......,.,...,. three consecuuve terns in A.P. are a, a-d and a+d) 
- 4.r - 3 = OSolve the following equation by formula method , 

(6) 

d gt number 1s to be formed from the digit 0,1,2,3,4. Rep_etition of the digit is allowed. Find the 
""'"'..,"'' tv that the number formed is: i) Prime number ii) Multiple of 4 iii) Multiple of 11 

Q 4. Solve an} two of the sub questions: (8) 

d to the numerator as well as the denominator or fraction, it becom~. If 1 is substracted 
2 

rator and denominator both the fraction become;· Find the oi:-iginal fraction. ·, 

d by boat 36 km downstream and back in 8 hours. lf the speed of boat m still water 1s 
peed of water current. 

t ml 46 The sum of 5th and 7th term is 52. Find the A.P. 

Q 5 Solve any one of the following: 
(3) 

F 

. 
11 r bl m th co ffit1ent .1, hand c 1re ~uch th ll , , l 4 1 ' 1 

tort ll,un method 

l t n u In l O 1n t ,Im nh 

al I l th f11..,t md I l',t 
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Q.1.(A) Choose the correct a lternative answer for each of the following questior'"s and 

rewrite again :-
. ( 4) 

(l) J.ABC -~PQR; if AB= 4cm, PQ= 6cm and QR= 9cm, then BC = --------. 

(A) 7cm (B) 6cm (C) 8cm (D) 9cm 

l 2) If sec e = 25 / 7 then find the value of tan e 

(A) 7 /24 (B) 7 /25 (C) 24 /7 (D) 25/24 

(3) Find the side of a square if its diagonal is 10V2 cm . 

(A) 10cm (B) 20cm (C) 40cm (D) 40V2 cm 

(4) The sum of the x - coordinates of the vertices of the triangle is 15 and that ofy- coordinat2s is 21. The 

coordinates of centroid are ----------

(A) ( 15, 21) (B) (5, 7) (C) ( 21,15) (D) ( 7, 5) 

Q.l(B) Solve the following:-

(1) In the figure, AB II DC II FE then find the value ofx . 

(4) 

r 2) If point P divides the seg AB with A( 2, 6), 8 ( -4, 1) in the ratio 1: 2, Find they - coordinate of 

point P. 

(3) If cosec 0= VS, then cot 2 e =? 

( 4) In ll ABC, LB= 90°, LA= 30 °,AC= 14, then find BC. 

Q.2 (A) Complete and write any two of the following activities:-

(1 J Complete the following activity to Prove:- Cote + tan e = cosec e x sec e 

Activity: L.H.S = Cot 8 + tan 8 

= ((JS 01 sin o + r:=I J; cos e 

= ( D) + sin 2 (J / sin O x cos O 

= 1 / sin (1 x CCJ5 0----·-··· :. (W) 

= 1 / SJO A x 1 / cos 0 

(4) 



= cl I) x sec 8 

(2) In the above figu r e, seg AC and seg BO in tersect each other in point P. If AP/ CP = BP / DP, then 
complete the following act1v1ty to prov<' 6. J\UP ~ 6. CDP. 

u 

Proof; In u Asp and 6.CDP 

:. AP / CP = BP/ DP ------- (CJ) 

:. L APS = ( Cl) -----------vertically opposite angles 

:. 0 - 6. CDP ----------- (P) 

( 3) In the given figureL PQR = 90°, seg QN 1- hypotenuse PR , If PN = 9, QN = 12, Find NR. 

!!I 
i ¼ 

-. ~ 
t [" . . . 

~ 
1- L--

I 
! . ,· , .. I I ' ,, i J: t-< I .. .. 

~ Activity: 6.PQR, LPQR = 90 °, seg QN 1- seg PR 

:. NQ 2 = D -----( By using theorem of geometric mean) 

(12)2 = CJ 
NR =0/9 

:. NR= C\ 
Q.2 ( B) Solve the following:- (Any 4) 

(1)6.LM~ - 6PQR,9xA(6 PQR) = 16 x A(6LMN).IfQR=20,thenfindMN. 

f2 ) Prove that sec 0 + tan 8 = cos O / 1 - sin 8 

(3) If the slope of the line joining points P { k ,0} and Q { -3 ,-2} is 2 / 7 then find k. 

( 4) Fi nd the height of an equilateral triangle having side 2a. 

(r:i) In 6 ABC, s eg AP is median. If AP= 7, AB 2 + AC 2 = 260 then find BC. 

Q.3 ( A) Complete the following activity:- ( Any 1) 

(8) 

(3) 

(1J If !.i/\HC ... /J. l'QH, /\ ( MBC) 81 cm 2 , A ( 6.PQR) '-' 121 cm 2 , BC - 6.3 cm, then complete the 
followJ11g ,H,:t1v1ty to find QR 
/\r-t1vity:- I:!. ABC ... 6 l'()H • (given) 

:. /\ ( MBC) / /\ ( 6 l'QH) CJ/ C)H ' --------( C l} 
:.tJ/ 121 ((dJ L / ()H ' 



:.□/ 11 = 6.3 / QR 

:. QR = 6.3 x 11 / CJ 
:.QR=Dcm 

----------( Taking square root on both sides ) 

(2) In A( h ,-6 ), B ( 2, 3) and C ( - 6, k) are the co- ordinates of vertices of triangle whose centroid is G 

( 1 '. S) · complete the following activity to find the values of h arid k. 
Acti\ity: 

A ( h, -6 ) = ( x 1, y 1), B ( 2 ,3) = ( x 2, y 2) C ( -6, k) = (x3, y3) , G ( 1,5) 
By Centroid formula, 

1 = h + 2 + ( -6) / 3 

:. 3=h+ 0 

:. h=3+0 

5 = -6 + 3 + k/3 

:. 15 =□+ ~ 

:. k= 15 + 0 

:.h=C:=J :.k=C] 

Q.3 ( B) Solve the following :- (Any 2) (6) 

(1) Show that points P ( 1,-2), Q ( 5, 2), R ( 3 ,-1) , S ( -1, -5) are the vertices of a parallelogram. 

(2) Pranali and Prasad started walking to the East and to the North respectively, from the same point 

and at the same speed . After 2 hours distance between them 15 V2 km. Find their speed per hour. 

(3) ABCD is a parallelogram. Point Eis on side BC, line DE intersects Ray AB in point T. Prove that 

DE x BE = CE x TE 

T 

. . 

( 4) A tree was broken due to storm. Its broken upper part was so inclined that its top touched 

the ground making an angle of 30° with the ground. The distance from the foot of the tree and the 

point where the top touched the ground was 10 metre. What was the height of the tree? 

Q .4 Solve the following :- (Any 2) (8) 
( 1) Prove :- When two triangles are similar, the ratio of areas of those triangles is equal to the ratio of 

the squares of their corresponding sides. 

(2) In /1 ABC, LBAC = 90°, seg BL and seg CM are medians· of MBC, Prove that 

4 ( BL 2 + CM 2 ) = 5 BC 2. 

8 

LAM 
C I A 

(3) Fmd the lengths of the medians of a triangle whose vertices are A( -1, 1) , 8 ( 5 .-3) ;rnd C ( 3,5 ). 

Q.5 Solve the following:- (Any 1) (3) 
(1 J Usrng slope ,onc.cpt. determine wlwthPr D ( -2. - 3 ) , E ( I, 0) . F ( 2, l ) ,lre collinear or not. 

(2) Provethatsrn 6 0+cos 6 0 l-3s111Zfl.cos20 •l . 
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Q.1) A) Choose the correct option from the given options and complete the sentence: (4) 

1. Pl'Ople of ___ tribal community practise the ar.t of Pingul . 

J.) \\'arkari b) Thakar c) Kudal d) Chitpavan 

Major Dhyan Chand is also known as the __ 

a) Master Blaster b) Wizard of Hockey c) The flying Sikh d) Haryana Hurricane. 

3. Keertankar was also known as ----

a) Narani b) Haridas c) Meerabai d) Surdas 

4. The wooden dolls made in Maharashtra are known as ---

a) Thaki B) Kalichandika C) Gangavati d) Champavati 

B) Identify the wrong pair: -

1. 1 Raigadala J evha Jag Y ete 

2 Tilak Ani Agarkar 

3 Sashtang Namaskar 

4 Ekach Pyala 

2. 1 'Prabhakar' 

2 'Darpan' 

3 ' Deenbandhu' 

4 ' Kesari' 

Vasant Kanetkar 

Vishay Bedekar 

Acharya Atre 

Annasaheb Kirloskar 

Acharya P. K. Atre 

Balshastri Jambhekar 

Mumbai 

Bal Gangadhar Tilak 

Q.2) A) Complete the following flow chart: -

Moods or Rasas of 

Indian Preforming 

Arts 

B) Write Short notes: - (Any 2) 

1. Tarabai Shinde 

2. Marathi Theatre 

'~. Archives. 

Q.3) A) Give reasons for the following: - Any 2 

1. 
2. 
3. 

The lists of world heritage sites is announced hy UNESCO. 

Television is the mo~t popular uwdium. 

Voltaire is called th1: foundPr of modern historiography. 

(2) 

(2) 

(4) 

(4) 
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B) Answer the following: - (Any ZJ (ti J 

1. Which fac;tors led to the origin nfm11 1,I .i i M,H,llh l th,•,11, ~ 't 

2. Write about lcono11raphy. 
3 What Is Powada' 

Q.4) Read the following passage and ,msw,•r Hu· folfowl11g: · (1 J 

Maratha Styl ,• of Painting : -Mar.tt~w p;1inti11g-, i'. au 1•x;1mpl1 ,,f ,111 •, tyJ,. 'J !J1• •,1 1/t1· k r11, ·1111 ,1 . 

Maratha paintings began to dev,•lop in th1• latt, r half ,,f th, 17 '' <., 11l w 1 <. J .. ·1 Id•. ,tj'l1• , !,11 .I .L•. ,,t 
Coloured paintings and they c,c c 1ir as mural•, and rnin1atw1••, u•,1·d in m,11111 ·., 11pt• .. M11r ,d•. ,,t 

Maratha Style can he seen in the 1Jld wadns at place', l1k<.: W,ii, M1•nav:di :rnd :,;,t :11 ,, ir1 M:,h,11 ,d tl r ;i 'I t11• 

Maratha 
Style was lnnuenccd by the Hajput and European ',Lyle.', of p,Jintiu~~-

Paintlng styles hrJlp us in under',tancling variou•, thing-, abc,ut th1• tim1••, lr1 whid1 It w,,•. 

developed Such as the lifo style<;, allires, custom•,, etc... 

Questions :-
• 

1. When dGd the style known as Maratha painting begin t<, cfov<d<,p'! 

2. What does the Maratha style.: of painting con'>btr, of '! 

3. Name the places where mural<; can he <,e;en 

Q.5) Answer the following In detaJJs: - (Any 2) 

l. What materials was used in the making of toy<;? 

2. Explain the objc.:ctivcs of ncw">papcr. 

3. Write about Mughal miniature paintings. 

Q.6) Choose the right option and rewrite the statement:~ 

1. ___ from Himachal Pradesh was the first v,,t,•r of India 

a) Sukumar Sen bJ Shyam Sharan Negl t) Nc.:ela S;1tyarrnrny;rn d) T. N . .Sb1••,twn 

2 The Bharatiya Janata Party giv<:s importance to -~-- n•for m'i. 

a) social h) economic cJ c..u ltu ral dJ <•ducatlonal 

(4) 

(Z) 

Q .7J AJ Explain whether the following statements arc trut: or faJs,• with r<::1s,,ns,: . (Any Z) (4J 

1. 
2. 
'.i . 

1 ht objective of political parliei; il-i to ac:hl<;vc• c•cc,nomic powc•r. 

Creating constituencw•, is thr• rc~spon'>ibll1ty of ttw Educatio11 Comu1isr.ion, 

D<imocratlc: reforms an~ rnn<;icfon•d a'> dulll", r,f dtiz<•ri•, 

HJ Write short notes (Any 1 J 

1. Hight t" info, rnation. 
2 Electf<m Ccm1rnl-;•,ion. 

Q.H) Complete Hw following flow chart: -

Ch,Jl11•11gc"; h1•fo11· 1111' E11•1 tio11 
Corr1111l 1,sion 

(J.'JJ /\nswn lttf• tollowlr1g q1H'slio11: (/\uy I) 

l Wrlll' llH· J~,1tu1 , ... ,,t C1ood C ,oVl·r 11d111 e. 

2 l·.xpf,1111 tl11· n1t•:J11JJ1g flf c.,,dl' ,,t c,rn11l1J11 

{'.l) 

(ZJ 

f :l ) 
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Q 1. A Choose the correct option and rewrite the sentence:-

l. India's southernmost point is known as __ _ 

a) Lakshadweep b) kanyakumari c) Indira Point d) Port Blair 

2. The highest peak of Brazil is ___ _ 

a) Marajo b) Praia do Cassino c) Sao Marcos d) Pico de Neblina 

3. ___ types of vegetation grown in wet, marshy soil. 

a) Coniferous trees b) Grasslands c) Cactus and throny bushes d) Mangroves. 

4. The population of Brazil was __ in the year 2010. 

a) 19 crores b) 121 crores c) 90 lakhs d) 1.9 million 

Q 2. Match the following :-

A ' B 

1. Himalayan forests a) Peninsular region 

2. Antelopes b) Teak 

. 
3. Anacondas c) Pine 

4. Deciduous d) A Pantanal 

Q 3. Write the short notes on :- (Any 2 ) 

1. Natural vegetation 

2. Himalayas (3) The Indian Peninsula. 

(4) 

·, 

(4) 

·, 
(4) 

Q 4. A. Mark and name the following on the outline map oflndia with Index :(Any 4) (2) 

1) North Indian Plains 2.) Orissa 3) Western Coastal Plains 4) Sunderban Delta 

S) Hangaluru) 

B). Diff erenliate between :- (Any 2) (4) 

1. Himalayan rive, sand l'cninsular rivers. 

I 
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2. Flora and Fau11,1. 

3. India and Brazil 

Q 5.) Give geographical reasons:- (Any 2) 

I. Vegetation is scarce in the high altitude~:-; of I J:rnalayw;. 

2. Urbanization is increasing rapidly in lndia.,,m;.rjor liJ,<;n~ r..yrr1r,011yi 

3. Brazil's population density is very Jess . 

. Q 6.}A/raw a line graph from the given ta ble:- ( f,J 

Year C/o of Urban Population. 

1. 1961 18 

2. 1971 19.S 

3. 1981 23·.2 

4. 1991 25.7 

5. 2001 37.6 

6. 2011 42.8 

I 

Q 6. J Do as directed :- (6 J 
J 

1:- Most urbanised state of India -➔ 

2. The type of settlement in Sao Paulo region--➔ 

3. Odd man out:- Ganga, Yamuna, Mahanadi, Brahmaputra. 

4. Another name of Thar desert. ➔ 

5. The worlds largest Delta. --➔ · 

6. The name of 'Brazil ' comes from a local wooded tree--➔ 

Q 7. Answer the following in details :- (Any 1) (4) 

1. What is the importance of Save Girl Teach Gi rl in India ? 

2. Write in hricf about Indian Peninsula . 
. .. 
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